ISC 2017 - 29.01.2017

Cat 1: 223 solvers
Problem
(average; # full solution (5); # part solution (0,5-4,5); # wrong solution (0);

# no solution (-))

1) #2 Lowe 1.Qd2! (3,41;152;0; 68; 3)

Wrong keys: 1. Qf27? 38x

2) #3 Eerkes/Schrader 1.Qb1! (2,40; 72; 54, 58; 39)

Wrong keys: 1. Qg1? 24x 1. Sec2? 9x

missing variations: Bb5 28x, Sc7 28x

3) e.g. Gurgenidze/Minski 1. Bf5! (2,31; 74; 91; 18; 40)
Wrong Moves: 1... Ke77? 24x

4) h#6,5 Jones a) 1. Bg4 b) 1.Bh1 (0,76; 3; 62; 17; 141)

only 3 solvers with both solutions: Nunn, Tummes, Caillaud
1 sol: 62 solvers: a) 1 sol. (Mr. Manikumar from India) - b) 61 sol.
solutions for a: 4, for b: 64

5) #4 Makaronez 1. Se5!(0,73; 19; 19; 59; 126)

Wrong key: 1. Bf1? 17x 1. Sd57? 7x

Missing var. Sf2 9x

6) S#3 Sickinger 1. Bb7!(1,41; 54; 17; 81; 71)

Wrong key: 1. Qe8? 18x 1. Qd7? 10x 1.Be6? 10x 1.Bf3? 10x 1. Bc4? 7x



7) #2 Fleck 1. Ba7!(3,95; 176; 0; 40; 7)

Wrong keys: 1. Be5? 9x 1. Bf6? 9x 1. Bg7? 8x

8) #3 Havel 1. Qh3!(2,52; 61; 74; 41; 47)

Wrong keys: 1. Qc1? 19x

Missing or wrong variations: Kd6 31x, Kb5 13x, Bd5 10x

9) e.g. Becker 1. Sg5 (0,49; 6; 71; 96; 50)

Wrong moves: 1.5f4? 59x 1. Bf1? 14x 1. Bd3? 10x 1.Bb7? 9x 1. Bc8? 3x
only 9 solves found 1...Qa4 (!)

10) h#3 Abdurahmanovic/ellinghoven 1. Rbb8/1.Bb8 (2,57; 80; 69; 11; 63)
69 solvers with 1 sol. — 56 found Bb8; 13 found Rbb8

all solutions with Bb8: 136; all solutions with Rbb8: 93

11) #6 Herzberg 1. Sc1! (0,72; 27; 10; 73; 113)

Wrong keys: 1. ¢6? 26x 1.c3? 21x 1. d3? 14x

Missing var: Kg3 7x Bd7 3x

12) S#4 Fomichev 1. Qb6! (1,14; 40; 25; 25; 133)

Cat 2: 116 solvers

1) #2 Kofman 1. Qh5! (2,89; 67; 0; 43; 6)

wrong keys: 1. Qd67? 6x

2) #2 Berg 1. Qe7! (1,85; 43; 0; 67; 6)

wrong keys: 1. Qa3? 24x 1. Qb4? 7x 1. Qd6? 6x 1. Sc7? 6x 1. Sc6? 5x
3) #3 Marandyuk 1. Ke6! (0,57; 10; 7; 70; 29)

wrong keys: 1. Ke5? 19x 2. Sf7? 12x 1. Qf2? 7x 1. Be4? 6x

4) #4 Bottger/Auerswald 1. Bf5! (0,78; 16; 4; 45; 51)

wrong keys: 1. Bc7? 20x 1. Rb6? 6x

5) eg Selezniev 1. Bf3? (1,30; 24; 27; 29; 36)



wrong moves: 1. Bc2? 19x 1. c7? 5x 2. Kg37? 9x
6) h#2 Paros 1.5a6/Sc6/Sd7 (2,30; 48; 12; 19; 37)
3sol:48; 2 sol: 6,1sol: 6

sol with Sa6: 57; sol with Sc6: 53; sol with Sd7: 52
7) #2 Beszczynski 1. Qc2! (2,37; 55; 0; 43; 18)
wrong keys: 1. Qa4? 12x 1. Qf3? 9x

8) #2 Weenink 1. Bf5! (2,72; 63; 0; 37; 16)

wrong keys: 1. Bal? 11x

9) #3 Massmann 1. Rg2! (1,09; 18; 13; 53; 32)
wrong keys: 1. Se3? 22x 1. Kh6? 10x

10) #4 Minski 1. Kf3!(0,47; 10; 1; 62; 43)

wrong keys: 1. Qc6? 19x 1. Rc6? 10x 1. Rb4? 9x
11) eg Tavariani 1. b5 (0,75; 6; 51; 30; 29)

wrong moves: 1. c¢7? 21x 1... Bc8? 24x 3. Kh6? 5x
12) s#2 Hildebrand 1. Rel! (1,42; 17; 22; 38; 39)

missing var: Rh4 15x



